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SCIENCE & TECHNOLOGY
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Q.2.

Q. 3.

Q. 4.

Q. 6.

RIS FHBRT BT Hferd BINTT |

NaCl + AgNO, —> AgCl + Na NO,

Balance the equation -

NaCl + AgNO, — AgCl + Na NO, 1

A &7 BT SaTERVT AIRTT ST ST ) HaTeld &Il 2|

Give an example of a metal which is a poor conductor of heat. 1

THifed el § IuRed Ydhraicis |8 &I M 9 g ford@r |

Name the functional group and formula present in acitic acid. 1

BISSISTHIDhRUT RIT & 7
What is Hydrogenation ? 1

fra de@ &1 goldele fa=T 2, 8, 2 8 ?

Which element has the electronic configuration 2, 8§, 2 ? 1

MY mmad Aol # fhaw o g fhaw amad &8 & ?

How many groups and periods are present in Modern Periodic Table. 1
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Q. 8.

Q. 9.

Q. 10.

Q. 15.

Q. 16.
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Which components of food are completely digested in small intestine? 1

ARTSS BT B AT AT IRR B RAfA T AT BT REVT HRAT & 2

Which part of the brain maintains posture and equilibrium of the body? 1

U UTEY BRI | B AT STHA IR favrer= &l URT &rar g ?

Which hormone promotes cell-division in a plant cell? 1

P A ARG JOT B AT | GG UG Bl § 2

Which special tissue provides nutrition to the embryo from the mother’s body?

1
AT BT dSf=e T ERIEIN
Write the scientific name of human. 1
f=gl <1 I & AW qarsy 549 ¥ Afed afad s=gE T8 ) Fad |
Name any two diseases, if a person is infected with, can not donate eyes.

1

I & UBI BT WagH UG &3l & (oY Hig & [UsH BT AdUeH ST fhd

=T 1 fdar o ?

Who was the first person to use a glass prism to obtain the spectrum of sunlight?
1

I I BT A1 Fasy Sl BT areid & AR UR f[IWdiar 991g - H Hrar

PR 87

Name a device that helps to maintain a potential difference across a conductor.

1
fafa & e o =1e @7 ® 2
What is the velocity of light in vacuum? 1
e &1 Il § dia AT I 90 Bl § 3R @ ?
Which gas is flushed in chips bags and why ? 17
SEAIDHROT JAfAfhar @1 & ? <1 Iarsvor iy |
What is neutralisation reaction? Give two examples. 172

Aol G & pH &I 719 6 BT & | T&1 49 O R 9@ pH & 719 § 1 gRac
BITT? 31T Sk FH=msT |
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Q.21.

Q. 22.

Q. 23.

Q. 24.

Q. 25.

Q. 26.

Q. 27.

Q. 28.
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Fresh milk has a pH of 6. How do you think the pH of milk will change as it turns

into curd? Explain your answer. 17
_Yoled BT ITedh Rigrad ar & 2
What is Newland’s Law of Octaves? 17

TAR LY H 37 B R AT © ?

What is the role of acid in our stomach ? 1%

RATOT fohar fode= & fhd g frr 2 2

How is the process of pollination different from fertilisation? 17

3TlTeh ST 1 3TUeTl iffieh ST gIRT Seq=~1 fA=Tce 37ferep IRl @l siell
g7

Why sexual reproduction gives rise to more viable variations than asexual
reproduction? 172

& el Ul @7 ashal a1 18 A0 & | SH@ BI6d 3 a7 BRI ?

The radius of curvature of a spherical mirror is 18 cm. What is its focal length?
17

PN B SiferH ufd # 93 faemeft o1 vamuce e # B B § | uE faemeft

frd gfte Iy A Gifsd €7 59 QY Bl R DY fHAT ST bl © 7

A student sitting in the last row finds difficulty in reading the blackboard. What

could be the defect the child suffering from? How can it be corrected?

17
3MEH &1 s T ® ?
What is Ohm’s Law? 1%
T @ SMMARYT aTel fagld AT T qHUBT BIAT R SMaeIH © ?
Why is it necessary to earth electric appliances of metallic cover?

17
3STM ORe & &fd gAR forg e o1 favg @i g ?
Why is damage to the ozone layer a cause for concern? 17
areliefi| @ Afordl & SuANT WR uie sawd @i g ?
Why the ban on use of polythene bags is necessary? 17
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Q. 29.

Q. 30.

Q.31.

Q. 32.

Q. 33.

Q. 34.

Q. 35.

Q. 36.
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Why should we conserve forests and wild life? 1

ol Hbe A T YT 2 7

What is energy crisis? 2

AT DI AhTg Ulhar &1 fhar fafr wwsmsy |

Explain the mechanism of the cleaning action of soaps. 2

10TA0T0 B YRR &1 UsT=a # FaT e 27
What is the importance of D.N.A. copying in reproduction. 2

T fdq 1 sradel qUor gIRT 941 fcifda Srardl, diem e fda & a1 81 ar avg
& Reafd wel 8F1 A1 | 3vE gRT |Hsey |
Draw a diagram to show the position of an object if the image formed by concave
mirror is observed to be virtual, erect and larger than the object.

2
ey faga uRudl # =ofiees WA &1 IUART &l 81 fhar Srar 8?7 W<
PBIFSTT |

Explain why is the series arrangement not used for domestic circuits? 2

AABT FHoll BT RIT J8cd & 2

What are the advantages of nuclear energy ? 2

gTd G ST ¥ 3R WL PHIIY |

A% grg @i 99 S § 7

Differentiate between metals and non-metals.

What is the need to prepare an Alloy? 2,2
gl or

PIg 50 HoHlo Agw &I 49 fHAT 16.0 HoHlo B A & 3fadel qUUT

24.0 HoHI0 S WR @I T | U @I fHal g W g Pl T Y b wee

ufifie g 8 | g @ wBR 9 wrew A e B

An object 5.0 cm in size is placed at 24.0 cm. infront of a concave mirror of focal

length 16.0 cm. At what distance from the mirror should a screen be placed in

order to obtain a sharp image. Find the nature and size of the image.
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Q. 37. THifhd s Wi a6l faega Sifva &1 a1 Rrgra den rRifafd &1 av=
P |
Explain the underlying principle and working of an electric generator by drawing
a labelled diagram. 4

Q.38 ®) TS BT DINIGN (RRH) P FDAT IH8Y TAT 30D HIAT BT 0 HITIY |
@) Mfeed fhard qem ufdadt fhad v R & fhd uaR = £ |
a) Draw the structure of a neuron and explain its functions.
b) How are involuntary actions and reflexactions different from each other?
2+2=4
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SCIENCE & TECHNOLOGY
(PRACTICAL)

Time Allowed : 3 Hrs M. Marks 25

PART-1I

Note : Attempt any three questions. Each question carries equal marks.

Q.1 Find out the pH of the following by using pH paper/universal indicator.
a)  Dilute hydrochloric acid (HCI)
b)  Lemon Juice 7
Q.2 Trace out the path of a ray of light passing through a rectangular glass

slab for different angles of incidence. Also measure the angle of incidence,
angle of refraction, angle of emergence and interpret the result.

7
Q.3 Determine the equivalent resistance of two resistors when connected in
parallel. 7
Q.4. Prepare a temporary mount of a leaf peel to show stometa. 7
Q.5. Observe the action of Zn, Fe and Cu metals on the following salt solutions.

)  ZnSO, (aq)
)  FeSO, (aq)
i)  CuSO, (aq)

Also arrange Zn, Fe and Cu in the decreasing order of reactivity based

on the above result. 7
PART -1I
Q.6. 1)  Viva 2
i)  Practical Note Book 1
i)  Model / Chart 1
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